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Section -A (Objective type questions):
. Choose the correct option for each question. 1x5=5
a. Asilhouetted man. Here silhouetted means:
1) Darkness
2) A window
3) Starlight
4) A dark figure
b. What do Raina and Catherine lend Bluntschli?
1) A coat
2) Astick
3) Abandana
4) A pistol

c. Whois my rival? This is asked by:

1)
2)
3)
4)

1)
2)
3)
4)

1)
2)
3)
4)

.
a. Discretion
Ottoman
Eavesdropping
Barbarian

b
C.
d.
e. Repercussions

Match the following.

Sergius

Bluntschli

Nicola

None of the above

They make cannons out of cherry trees. Here the idiom means

To make wooden weapon

To try unsuccessfully

To work out impossible things
All of the above

The friend of Bluntschli was killed

By being shot.

By being beaten.

By being burnt alive.
By being hanged.

1x5=5

I. Furniture
ii. Uncivilized
lll. Wisdom
iv. Outcome
v. Overhear



M. Use the given words both as Noun and Verb in sentences of your own: 1x8=8
Act, bend, fix, hand, iron , mouth, pass, word

V. Substitute the following expressions with one word: 1x4=4
a) A person who attacks first
b) A word opposite in meaning to another
c) A person whose age is above hundred years
d) Study of environment.

V. Write the Vahubrihi Compounds for the given expressions : 1x4=4
a) A person who believes in fate
b) That which is against law
c) Belonging to the middle ages
d) One who thinks only of female welfare

Section- B ( Short type questions): 5x4=20

VL. Answer any four of the following.
a. What do you understand by farcical humour? How does Shaw use farcical humour in
Arms and the Man?
Explain: This is the happiest night of my life if only there are no fugitives!
Describe Nicola’s character in a few lines.
Explain: Bluntschli: What an army! They make cannons out of cherry trees!
How does the man differentiate between the experience of the old and the young
soldiers?
f. How does the realities of war make Sergius educated ?
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Section-C ( Long type questions ) : 1x10=10
VII. Do you think Arms and the Man is ‘an anti-romantic comedy’? Justify your answer.
Or

Discuss various themes found in Arms and the Man.

VIII.  Translate the given passage in English. 14 Marks

T et HerareT aitdd gg 43 JuR & AT demel 9y o 3§ &1 ArsT & M v F H
3ogiel & T demell oY & FF AN U T dsdr F doT A W &I 98 oI5 T o
SU g3 M| 98 Th FU & I S T & 915 3R T59 o6 Fifh 38 §gd AT =
ol Y| JiaH §¢ Tg T W W A1 INAH gg F 3H SR H A G el R FHer
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81 ggT 3T | HITAlA g & 9 g { SART Fd §F 39 AR T Tehel FI Fgll 39
SIfOhT o $19TaTel g & gl HGRIT A ol 33l g1 A 30 FU F Ul Aol ofglt ot oo
gi¥a g Sirwam| # TR HA e S Fehell €1 HITET gg o 30 R @ Fer, 98 AR



qgd SR T oI Il § Uge H H uen | 3 gwd gg WX Al & U v
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